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LLE Blc5: 237
1079 = 1002 =
1001 = 1003 =
1079 = 869.1 x 1009 =
1079 = 897.3 x 1002 =
186.7 x 1003 = 5547 x 1002 =
3x 1000 = 2% 1004 =
8% 10 = 2% 10 =
100D = 6% 1003 =
100% = 5% 1002 =
8 x 10 = 5% 100D =
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A HI: BlCb:._ AO7:
107 = 0.0001 1072 = 0.01
1077 = 0.1 107 = 0.001
107 = 0.0001 869.1 x 107 = 0.08691
107 = 0.001 897.3 x 107 = 8.973
186.7 x 107 = 0.1867 554.7 x 1072 = 5.547
3x 1077 =03 2 x 10% = 0.0002
8 x 10 = 80 2% 10=-20
1077 = 0.1 6 x 107 = 0.006
107 = 0.0001 5% 1072 =0.05
8 x 10 = 80 5x 107 = 0.005
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